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S=L = mm =
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SAH100-150/10AF6 SAH 100v-150w, 10AF6( o 10
@6
MAX100-180/6PM/M8 MAX 100v-180w, 6PM ( o 6,
8
SAH100-350/10PH/ (R1/4-M12F) SAH  100v-350w, 10PH( ¢ 10, 5
IN:R1/4,0UT:M12F
MAX100-180/6BM/ @ 2/S, P1m(TF) MAX 100v-180w, 6BM( o 6,BM (
Q2
CLH200-300/15PH/(R1/8-R1/4) CLH 200v-300w, 15PH R1/8,
/+S (0. 32) R1/4 ¢ 0.32
SAH200-1. 2k/10%6PH/(R1/8-R1/4) SAH 200v-1. 2kw, 10%6PH(¢p 10 6 PH
R1/8- R1/4
SAH220-12k/18%6XH/+2S SAH 220v-12kw, 18%6XH (¢ 18 6 , XH
)
PAH100-800/10AH/+S(R)/S1. bm PAH 100v-800w, 10AH ( )
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E— E— @ 8.5 ¢ 12.5 @ 15 @ 25
E— E— ¢ 2.0 ¢ 2.0 ¢ 4.0 ® 6.0
— — 0. 5%26 0. 5%26 1. 0%26 1. 0%26
— — M12F-P1 M17F-P1 M21F-P1 M32F-P1
— — @ 8.5 @ 12.5 — —
— — @ 2.0 @ 2.0 — —
— — 0. 5%26 0. 5%26 — —
— — M12F-P1 M17F-P1 M21F-P1 —
— — @ 8.5 @ 12.5 — —
— — ¢ 2.0 @ 2.0 — —
— — 0. 5%26 0. 5%26 — —
Q3 o4 @ 8.5 — — —
Q1.5 @ 1.5 @ 2.0 — — —
— 1. 0%3 0. 5%26 — — —
— M5F-PO0. 8 M12F-P1 — — —




